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N.B. .— (1) Question No. 1 solve on OMR sheet and first half an hour for

this question.
(i)  Question Nos. 1 and 2 are compulsory.
(111  All questions carry equal marks.
(iv) Negative marks for wrong answers.
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1. (1) Which of the following is not a non-economic objective of a firm ?

(A) Maximization of sales

(B) Sound business practices

(C) Welfare of various groups

(D) Progressive management

T BT SRS Rt =i A 2
(A) HewH fasnt

(B) <Al AEHNTS  Fe

(C) fafay amia wearm

(D) WCieie SqaETdA
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(11) Origin of Business Economics is in the year .................. )
(A) 1976 (B) 1950
(C) 1860 (D) 1776
ST SISO G oo FudE T
(A) 1976 (B) 1950
(C) 1860 D) 1776
(677) E OO UUUUUUUSU measures the responsiveness of quanity demanded of

commodity to a change in its price.

(A) Price elasticity of demand

(B) Income elasticity of demand

(C) Cross elasticity of demand

(D) None of the above

AT fhAda ST IS SRSl ARV BIOTAT SISl FHIOH

(A) wFTiER fhAa cafeehd
(B) AT Icq— Srartaehan
(C) Wil fovehy eTarfeehdl
(D) =Tl Tl

(iv) ~ Which of the following is the example of complementary goods ?

(A) Tea and Coffee (B) Apple and Banana
(C) Wheat and Jowar (D) Car and Petrol

ETefiedeh] T Qe Tk oqd 38 ?
(A) =@ Sfor =it (B) WWIEE U1 hadl
(C) g ewfor werd (D) &R 3T Y
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Production function can be put mathematically as :
(A) P=f(a b c d........... n)

B) P=Ffa+b+c—d......... n)

(C) P=fFfa+b-c+ d

D P=fFfa+ b+c+d

SARA e TR Ao 39 Hedl ad

(A) P=1f(a b c d........... n)

B) P=Ffa+b+c—d....... n)

C) P=fFfa+ b—-c+4d

D P=fFfa+ b+ c+4d

There is/are .........cccceuuue stages in Law of Returns to Scale.
(A) One (B) Two

(C) Three (D)  Four

TET WSS FOgia STIET 3T

(A) T=H (B) €M

(C) fem D) =R’

When marginal product becomes zero, the total product is :
(A) Minimum (B)  Maximum

(C) Zero (D)  Negative

Stegl T SARA Y 3Td, deel THU IRA

(A) gafa =t (B) Hald S

(C) & D) xR

Which of the following is also known as ‘Planning Curve’ ?
(A) Long run average cost curve

(B) Short run average cost curve

(C) Average variable cost curve

(D) Average cost curve

D76CA4B55F2A4A7TF3F44B90A 2E4901EA

2018

P.T.O.



WT

(x)

(%

( 4 ) A—106—2018
Treaeh! e gehte ‘FEeE g%’ weua ?
(A) T W < 9%
(B) TcTehleia WEd @ 9%
(C) TUE IeA T=ral ek
(D) W ©= 9%

In the short run, when output of the firm increases its average fixed

cost :

(A) Increases (B)  Decreases

(C) Remains constant (D) All of these

FTeqehTe™ UEd fer T aec IARAEsR

(A) e (B) T Bl

(C) feer e (D) =RIeteRt wel

Marginal cost is :

(A) Total cost divided by total output

(B) The change in the output due to one unit change in input
(C) The change in total cost due to one unit change in output
(D) Total fixed cost divided by total output

o =4 wUS

(A) THU T€ AN THU AR T

(B) QM T TTH AEcaes ThHY SRAN Seiel Jea

(C) TH TMH IUGEA Feaediel THU SR @did IR a5d

(D) THU feR w= 9rflel TR IR

Theory

Explain the objectives of the business firm. 10

ZEd g U] 3fese T .

Explain the determinants of elasticity of demand. 10

HATU=T Aafachal 0T HOM ok T &
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Or
(fenam)

Explain the law of variable proportions.

deatcedl AT fagid T 6.

4, “The long run average cost curve is U shaped but flatter.” Discuss. 10
“EeRTei W TE a9 (Y SRRl W] TEE of|dl’’ ==l W
Or
(ferem)

State the external economies of a Business firm.

eI Uerer dfgtid st |,
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